@ 4898 (B) HOogTAR=
Zi-ALBA EEZBHB:-NME F=A-EmA BEE:$HTEHE
FE)—D R R—TT XY R DUV RU—
0 1
4 3
=i MR = e - ‘
©) T
Al W2 Bl WkEBm | |C| $iBm | |D| ALBA (3PK2 |
=1 HET amm || | 2322 (14151 (515 273"
mlz| |#]|A
2lm| |\|L
@l (=B
A
O33R AD1a @80%

& {iz A =) = =55 Bm | B8R | &m |BXRE
1 W=z 591 O%O 4 5 1 4
2 | =% s <o 4 | 5| 1] 4
" ZHB=E o ,

&Lz B IDEE ydiiE] HE@/e B | Bm | kR |BRE

ZHEE A (]
> v 2 o 1 1 3 | -2

3 | B £ 197 1 > | 8| -6
1 ﬁ@ﬁ 2(_)0 7C_)1 6 9 1 S

& fiz C RE TR BEOE | R | Ba| ka |BLE
o | ER 2 oA 3 | 1 1| o
1| ¥ % 2 6 | 4| 0| 4
3 | 2@ | 2 2 ol o 4] -4

B D =% |ALBA| 2523 | ma | o | &a lexs
2L J t&%g TN T TN ~
3 =i 094 194 o | 1 s | -7
1 |[ALBA| S le|e|o]e

rP=-3J O ()

2 | £3z= e o 3| 4 | 3 1




